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Mathematics/P1

CAPS — Grade 1 — Memorandumn

QUESTION 1

DBE/MNovember 2014

1. I 1 v X =— 2
x=—2 orx =§ 7
/x = — 2
3 (2)
1.1.2 ¥ —5x=-2=0 v standard form
_—bt+b? ~4dac
2a v'correct substitution
54 /25— 4(1)(=2) into correct formula
X =
2
 5+4/33
rETS v x=537
x=537 or x=-0,37 vx=-037(4)
1.1.3 Jx—3=5+4 v'isolating \/_
( — )2 —(9)? v'squaring both sides
x—3=81 v’ simplify
S =84 v’ answer (4)
1.14 2xP=Tx-420
. . >
Cx+Dx—-4)20 v factors
CV's:— —1— 4
2
+ o - o * v'method
f f
-
> -
v’ notation
1 v critical values
X = —5 or x=4 (4)
OR v’ notation

xe (—w;w%]uw;w)

v’ critical values
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Mathematics/P1 3 DBE/November 2014

CAPS — Grade 11 — Memoranduin

12 x=2y+1 . 0
F -2y +3xp=6 ........
. y2+ xp =6 () v’ substitution of
2y +1) =2y+33(2y+1)=6 x=2y+l
47" +4y+1-2y+6y* +3y-6=0 I I v simplification
;2 —5=
10y"+5y-5=0 te ... v’ standard form
2y’ 4y—1=0 v’ factors
2y-1)(y+1)=0
(2 | Jor+1) v’ both y values
y=5 or y=-1 v both x values  (6)
x=2 x=—]

OR
ozt No W pathee
v substitution of

x? —2(1_-—1)+3A‘(x——-1) =6 x—1
2 2 y=—

2
2x% - 2x+243x-3x-12=0 v simplification
5x%=5x-10=0
) v’ standard form
x'=x-2=0
(x+D(x-2)=0 v’ factors

v" both x values

x=—1 or x=2
v both y values  (6)

y= -1 P l
2 [20]

)
(23%-))(3»“)»-;) =0 Q_\j XY # /O\nj < !/\/
2 markS lost ”

&, — 3 I”“c,g};@pf\&;iﬁ;é) '/

l@ Use MQQ’@/ o
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QUESTION 2 N loTE Question does ‘*jf?f =ey Woc .
2.1 3*(3-3" v’ common factor 3*
2.3" v'3-3"
31
3
Ty v answer 3)
8§ 1
=353 v’ common factor 3*
_4 v'simplification
3
OR v’ answer (3)
3*1(3% 1)
2.37
_3°37(8)
2.3"
= -I-)( 4
3
_4
3
3
22 (x-2)2 =64
-2 .
-2 vapplying exp. law
_9=14Hu3
x=2 [é’.f] v 4 s bl
x=2=7g v'simplifying
x=2+ L
16
1 v answer (4)
Xx=2-
16
OR
J(x=3)" =64
(x~3)" =4096 v squaring
(r—2) = 1 v applying exp. law
4096
9 I v’ simplification
X—2=wm—
16
I v answer (4)
x=2—
16
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Mathematics/P]
CAPS - Grade 11 - Memorandum

2.3 R , v applying surd law
xoxtxtx v applying surd law
W
7 vsimplifying
xs
x’ v answer 4)
[11]
QUESTION 3
3 AC(x=-2)=x"+2x-8 v’ statement
v’ factors
AC(x=2)=(x+4)(x-2)
vVAC=(x+4
AC=(x+4)cm (x+4)em
SFD=(x+4)cm
SED=x+4-(x-2) v’ method
ED=6cm v answer (6)
[6]
QUESTION 4
4.1 -7 0 9 20
7 9 11
2 2
, v2a=2
2 =2 vavalue
a=1
3(H+b=7 v bvalue
b=4
W+ (@) +e=—7 V¢ value (4)
c=—12
o T, =n"+4n-12
OR v 2a=2
2a=2 v'gvalue
a=1
T,=2"+b(2)+c=0
2b+c=-4 (D () +b=7
T,=3" +b(3)+c= =
3 3)+c=9 ORb 4
3b+c=0 (2) l+a+c=-7 v bvalue
c=—12 v'e value @
@-0) b=4
fe=—d—24)=—12
T, =n’ +4n—-12
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OR
3 (n—1)}n-2) v formula
=1, +(n=Dd, + 5 'd2 v'v'substitution
—1)(n-2
=T+ (n-1).7+ (")—?f").z vsimplification  (4)
=—T7+Tn-T7+n*=3n+2
=n’ +4n-12
4.2 n’ +4n-12=128 v’ equation
n’ +4n-140=0
(n+14)(n-10)=0 vfactors
n#-14 or n=10 v answers for.n
invalid  ~n=10 v'n =10 (choice) (4)
4.3 ~7:;0:9;20;... Voo -1} el
y Mo » 3 - A ‘* [V\ {
first difference7? 9 11 T" 5 v first differences
second difference? 2 = 7% (- ')( )
F =2n+c C 9 e @ﬁ . g) Answer only: Full
= Marks
E=2(1)+C=7 . 'i?m .,;f«:z,w‘ - &
63 » L en Ve=5(3)
FE, =2n+5
4.4 F, =2n+5=599 v equating
25 =594 V297
=297 2983
S (14]
this difference will be between term 297 and term 298
QUESTION 5
> Pattern 1 2 3 whole -ﬁ'ﬁ 1 tf»_) - |
Gled 5 13 2.5 T e T =)
winle L [ 2 P w 2nt 4 2n 1)
TY o Zn? 2 L 2n? 4 2n
k%) .
LTy = aln) yatw) = 4o answer(2)
52 W, = 20 +2n e wholz qu € iWn
2 e ared e substitution v
W, =2(157)% +2(157) " Jrey < answer 3)
=49612
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"

53

- 2

2n® +2n+1 <613

2n? +2n-612<0 }
n?+1n-306<0 F\‘\Vﬁt "7&5!"%”‘“\ .

v'setting up inequality

S (n=17Xn+18)<0 Y factors
-2 17
B v'method
—{gen 41T
R
n=16 @/) v answer (4)
_ L
5.4 Tbl”'@l/t - Tm + Ti’\w VP =4n" +4n+1
¥ Qs 2l o 27 4 2n Yrewriting P,
= Lt 3 e 3 v'conclusion
' (3)
= D (2?\2 + 2(’"’) + |
. ha l
i€ 2 (sewned ':j)“‘" VP, =4n? +4n+1
\Q E é v’ rewriting P,
_ e O! Oi v’ conclusion
. : 3)
~. Total squares used in the n" pattern is always odd. (
[12}
QUESTION 6
{6l x=2 v x=7
; y=3 v y=3@2)
62 x.int ; +3=0 v +3=0
x—2 X
8+3(x-2)=0
3x+2=0
2
Xm——
3
x—int‘(—E;O) v (—E;OJ
3 3
8
) =——++43
Y702
y= -] v
0;-1 3
yint: (0;-1) ( ) )
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6.3
v'agymptotes
v'intercepts with axes
v'shape
T ®
ETA O 2
’ -1
6.4 Y (?, ~2)+.3 of E ~ (ot =204 2 v’ substitute
w e | Zoex 4 & v’ answer (2)
b ‘“”-!'ﬂ‘*-‘?fjj wien k- v set ke
. )‘ M = XY | v’ y=x +1
_ )& =) v answer (2)
SR RS [16]
QUESTION 7
7.1 g=—=6 v'answer (1)
7.2 1 i v'substitute x
-5 4 a2 -6 v'substifute y
3 1 . p
127 v'simplifying
3 v'answer
a= 4)
7.3 xint:2' =2 x=2..(2;0) v2r=2
! 1 Vx=2
yint; y=32"—6=~4— .'.(O;—4-) 1
2 2 V’y—‘- ~4 '5:
Average Gradient
0+ 4}m v’subst. into gradient
_ 2 formula
2-0 v’answer
(5)
= —9- or 2—1—
4 4
7.4 y=32"-6 X =y 2 v’ v answer (2) [12]
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QUESTION 8
8.1 C=1;0 v C(-1;0) ()
8.2 y={x-3)(x+1) v {x-3)
y=x*-2x-3 Y+
Vy=x"-2x-3 (3)
8.3 TP :y=(1)* = 2(1)-3 vy=-4
— V[-4:0) (2)
R: ye[-4;m)
OR Vyz4
yz-—4
“ 1 8.4 _0+4_, v 23 ¥C v'substituting into gradient
m= 31 - Sub '/g) formula
O = af3) +L vm=2
= fo v’ equation (3)
8.5.1 x<-1 or x23 vix<-1
OR vx23(2)
XG(—OO,—HU{3,OO)
v (—o0;~1]
v'[3;0)(2)
8.5.2 ~-l<x<3 or x>3 v’ critical values
v )
OR xe (m | ; 023) and o 3 notation (2)
x>-1 ;x#3
OR j’f> -1
(13U Bi0) ##3@)
v (-1,3)
v (3;0)(2)
8.5.3 —1<x<0 or x>3 v critical values
OR v notation (2)
(—1;0)w (3;50)
v (-1,0)
v (3;0)(2)
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8.6 2 =2x—p=0
A=(-2)" —4(1)(~p)
=4+4p
for non -realroots A <0
4+4p<0 vd+4p <0
dp <-4 v p<-1Q2)
Sop <=1
OR
A(l;-4)
x1-2x-3=0
x*=2x-p=0 V_psl
=p>1 v p<—1(2)
Sop<-1
8.7 PM =(2x-6)-(x* —2x-3) v'sublraction
v . ,
= —x? 4+ 4x—3 quadratic expression
¥ __b v method
2a
L S
2(-1) .
R v'maximum value 4)
Max.PM =~(2) +4(2)-3 =1 unit
OR
PM =(2x—6)- (xz —2x— 3) v'subtraction
v L .
ey 1 4y —3 quadratic expression
=—(x2 —4x+4—4+3) v'method
=[x -2y -1
=—(x-2) +1
Max. PM =1unit v'maximum value  (4)
[21]
QUESTION 9
21| a=P-i)
12 v/substitution
11090,41=120000(1-/)
- ;2,1 1090,41 v'making 7 subject
=l
120000
viv i
Thus i = 0,179999... i value as decimal
Rate of Depreciation = 18% v answer (4)
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9.2 ‘ , i—m fe. v formula
IS L'p@;& { 4 "“""‘;2‘"’“‘”2“)
: €
': _ ( 14 0,098 " ) fi,%w “?é“a 9,8 v'substitution into
pe- 12 > - 200 formula
=(,10252..... v10.25% 3)
rate =10,25%
9.3 A=PO+i )" 1+, )" 0.075 16
" (0027)5 0,002 ‘/[H )
=80000(1+'—) (1+ ’ ) %
4 12 v,( 0,092)
[+ —=—
= R141768,60 12
v'multiplication
OR v answer 4)
0,075
A] =80000[1+’——) 16
4 v (1 . 0,075)
=107689,1465.. 4
0,092)* VA
A4, =107689,1465] 1 +— 0,092 "
2 vil+ ,...H].E_
= R141768,60 o @
9.4.1 | Investment : end of third year:
A=P+i) o 0,065
9% 12
=130 000[1 + %) v’subst, into correct
12 formula
= R50390,07 v’answer 3)
942 1 1 7. T T %
: ’ > : v 30000(1 L 965 )
36000 ~ 10000 +10000 12
60
0,65
% . -“’ v —10000[1 + = )
A :30000(14»%) —10000(1 +9£) + 10000(1 +9’—6§) 12
12 12 12 65
A=R48708,61 /1 0000(1 +9i.§§)
- difference = 48708,61—-50390,07 v RA8708,61
=-R1681,46 v'subtracting
v answer (7)
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Investment : end of third year:

A=P{+i)

3
= 30000(1 + 0,065J

=R36440,14881
Principal(new): R36440,14881— R10000,00 = £26440,14881

Investment : end of fifth year:

A=PQ+i)

v“subst, into formula
v answer

24 .
0,065 v'subst. into formula
=26440.1488 I(I + )  answer
=R30100,2304
Principal(new): R30100,2304 + R10000,00 = R40100,2304
Investment : end of eighth year:
A= P+i)
0,065 24 v’subst, into formula
=40100,23 04(1 + ) v answer
v .
=R48708,61 conclusion(7) o)
Tashil had a deficit of R1681,46
QUESTION 10
10.1 5 customers v answer (1)
10.2 P(C and B) #0 pnc =t ¢ vP(Cand B) #0
Thus events B and C are not mutually exclusive v conclusion (2)
10.3.1 58 29 v  answer 1
P(V only) = ——=—— W (1)
240 120
10.3.2 P(C and B) = 29 v answer (1)
240
10.3.3 | P(notC)=1-P(C) v’ formula
122 59 v’ substitution
— 7040 120 v answer (3)
OR S _
524345845 nuaperatm and
P(not C) = 220 denominator
v answer 3)
_us_ 59
240 120
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1034 |[P(Bor V) =P(B) + P(V) — P(B and V) 84
84 82 15 YTy
= + _ 240
240 240 240 v 82
240
_ 151 YRLE
240 240
151
v (4
OR 240 @)
P(B or V) = [17+52+12+3+9+58
240
151 v'v'numerator and
= denominator
240
v Vanswer (4)
[12]
QUESTION 11
P(A or B)= P(4)+ P(B)— P(ANB)
v'substitution

0,428=10,12+0,35-P(ANB)

P(AN B) =0,042

P(A)x P(B)=0,12x0,35 = 0,042

.. P(ANB) = P(A)x P(B)

Thus A and B are independent events

v'value of P(4N B)
v'value of P(A)x P(B)
v'conclusion 4)

[4]
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QUESTION 12

DBE/MNovember 2014

12.1 There are 100% — 60% — 10% = 30% red marbles v'30%
30 :
..i—o~6x 80 = 24 red marbles V24 @)
1 22 Outcome
R,R
RY
R.G v/first branch
YR v'second branch
’ v'values on diagram
6 5 (3)
48
48 5~ G v,y
24
- g R Y,6
Y GR
47
79" G Gy
123 | P(G and Y) = P(G, Y) + P(Y, G)
48 8 8 48 v multiplication rule
=30 79 750 79 v addition
48
=395 v answer (3)
[8]
TOTAL: 150
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